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BEmER  TERKRER SERRIF
T & R WOk - oF ik | 2w | mm | sk
Jr B 33.3 33.3
R , 36.8 36.8
m
D 17.6 17.6
G 7Y —h o ck=18N/mm’ 10.0 10.0
FE TUERLET Aay) t=4cm
e S5 - m? | 148.3 148.3
= A% T.(RC-40) t=10cm
B
& FE TBRET Aay) t=bcm
Py
T ERRAE TE | g TORRR) t=10cm | m®| 65.1 65.1
T & A% T.(RC-40) t=15cm
i \ KB T(27)—} o ck=18N/mm2) t=10cm
b a7 — M T m? | 46.4 46.4
I A T.(RC-40) t=10cm
H IR Z={8;8 400 % 400
e iR ﬁ(ﬁ%éﬁﬁm) m 81 81.00
K BRI =;8400 X 400
Jiti 2 (1507 F) m | 65 6.50
X T = 1 1.00
BAETIA-1E (24 m 42 42.00
::%E - ;::]<E ﬁ%
LA 2,1 A m 22 22.00
Bh IA_%T; (FERA m 4 4.00
B A TA-45 (FB{ER) m 12 12.00
li‘§:E - E‘ z{/]‘ ;E%
LD ?:.;*m A m 5 5.00
SHEE | T AR m 58 58.00
gt || TRAY m 25 25.00
HE 151 ¥ 1 PIT 6 6.00
T T [ L m 6 6.00
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NO.0 8.4 (BP) 0.00 0.3 0.3 0.2 0.1
NO.1 11.60 0.3 0.30 3.5 0.4 0.35 4.1 0.2 0.20 2.3 0.1 0.10 1.2
NO.2 20.00 0.5 0.40 8.0 0.4 0.40 8.0 0.2 0.20 4.0 0.1 0.10 2.0
NO.3 20.00 0.4 0.45 9.0 0.4 0.40 8.0 0.2 0.20 4.0 0.2 0.15 3.0
NO.3 +4.6 4.60 0.7 0.55 2.5 0.3 0.35 1.6 0.2 0.20 0.9 0.1 0.15 0.7
NO.3 +10.6 6.00 0.3 0.50 3.0 0.4 0.35 2.1 0.2 0.20 1.2 0.1 0.10 0.6
NO.4 9.40 0.4 0.35 3.3 0.4 0.40 3.8 0.2 0.20 1.9 0.1 0.10 0.9
NO.4 +8.6 8.60 0.4 0.40 3.4 0.4 0.40 3.4 0.2 0.20 1.7 0.1 0.10 0.9
NO.4 +11.6 3.00 0.0 0.20 0.6 0.9 0.65 2.0 0.2 0.20 0.6 0.1 0.10 0.3
NO.4 +15.6 4.00 0.0 0.00 0.0 1.0 0.95 3.8 0.3 0.25 1.0 0.1 0.10 0.4

& 87.20 33.3 36.8 17.6 10.0

MR 17.6/0.9 =19.6 FE A5y 33.3+36.8-19.6=50.5m3




